
ENGLISH MODULAR DRAWER - Assembly instructions





Modular drawer 
4-SIDED			 

	 Metal side - H 52 mm	 page 24

	 Metal side - H 78 mm	 page 26

	 Metal side - H 128 mm	 page 28

Technical information 		  page 4

Assembly instructions - 3-SIDED drawer	 page 6

Assembly instructions - 4-SIDED drawer	 page 10

Mounting the drawer onto the runners and removal	 page 15

Adjustments		  page 16

Modular drawer 
3-SIDED - wooden frontal 

	 Metal side - H 52 mm	 page 18

	 Metal side - H 78 mm	 page 20

	 Metal side - H 128 mm	 page 22

Index

3



78

88

88

LN 400 = 128
LN 450/470 = 224

8

P

min. 10

12

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

95

19

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

12

19

78

88

88

LN 400 = 128
LN 450/470 = 224

8

P

min. 10

12

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

95

19

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

12

19

78

88

88

LN 400 = 128
LN 450/470 = 224

8

P

min. 10

12

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

95

19

LN 400 = 128
LN 450/470 = 224

8

PF

P

min. 10

12

19

Excessories - modular drawer - Technical information 

4-SIDED drawer

3-SIDED drawer - For wooden frontal, thickness 12 mm 

Runner length  
(LN) mm

Drawer depth  
(PF) mm

Drawer depth 
3-SIDED
(P) mm 

+ wooden frontal 12 mm 

Drawer depth 
3-SIDED
(P) mm 

+ wooden frontal 19 mm 

Drawer depth 
4-SIDED 
(P) mm

400 428 440 447 440

450 478 490 497 490

470 498 510 517 510

3-SIDED drawer - For wooden frontal, thickness 19 mm

4



613

12  19

7 

66

min 88 min 88

With the same side drilling, 4-sided drawers are 
frontally aligned with 3-sided drawers with wooden 
frontal (12 mm thickness) as illustrated below.

With the same side drilling, 4-sided drawers are 
not frontally aligned with 3-sided drawers with wooden 
frontal (19 mm thickness), as illustrated below.

4-SIDED drawer 4-SIDED drawer

3-SIDED drawer
For wooden frontal
thickness 12 mm

3-SIDED drawer
For wooden frontal
thickness 19 mm

Technical information - Drawers alignment

5



CUNEO

GIUNTO

1

2

A) PREAVVITARE CUNEO (2) 
SU GIUNTO 

ESPANSIONE (1) 
SENZA SFORZARE 

1

1

2

C) MANTENENDO IL GIUNTO (1) IN BATTUTA, AVVITARE 
VITE (4) FINO A BLOCCARLO.

90° 90°

CUNEO

GIUNTO

1

2

A) PREAVVITARE CUNEO (2) 
SU GIUNTO 

ESPANSIONE (1) 
SENZA SFORZARE 

1

1

2

C) MANTENENDO IL GIUNTO (1) IN BATTUTA, AVVITARE 
VITE (4) FINO A BLOCCARLO.

90° 90°

Excessories - modular drawer - 3-SIDED - Assembly instructions

BACK PROFILEJOINT

BACK CORNER

JOINT

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

1. Insert the joints into the recess of the back profile and into the side profiles until they reach the stop

	  Back profile to cut to length, 90° mitre cut end, see pages 19, 21, 23.

2. Hold the joints in position and screw to fix

BACK PROFILE

6



4

3

5

6

4

3

5

6

Assembly instructions

3. Insert the back corners onto the back profile until they reach the stop

4. Screw to fix the corners onto the joints

5. Insert the side profiles into the corners

6. Screw to fix the corners onto the joints

BACK PROFILEBACK CORNER BACK CORNER

JOINT

BACK PROFILE

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

7



5A

6A

6A

BACK PROFILE 

Excessories - modular drawer - 3-SIDED - Assembly instructions

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

ADDITIONAL SCREW TO FIX THE BACK PROFILE WITH SIDE H 128

5A. Insert the side profiles into the corners

6A. Screw both the screws to fix the corners onto the joints and to fasten the profile

8



90°

90°

Assembly instructions

1. Screw the first cap to the frontal

KIT FOR THE ASSEMBLY OF THE WOODEN FRONTAL

3.	 Insert and slide the front profile on the connecting elements
	 Front profile support to cut to length, 90° mitre cut end, see pages 

	 19, 21, 23.

5. Insert the caps in both sides 6. Screw to fix the frontal to the drawer

2. Screw the connecting elements to the frontal

4. Screw the second cap to the frontal

9



CUNEO

GIUNTO

1

2

A) PREAVVITARE CUNEO (2) 
SU GIUNTO 

ESPANSIONE (1) 
SENZA SFORZARE 

1

1

2

C) MANTENENDO IL GIUNTO (1) IN BATTUTA, AVVITARE 
VITE (4) FINO A BLOCCARLO.

90° 90°

1

2

Excessories - modular drawer - 4-SIDED - Assembly instructions

BACK PROFILE

1. Insert the joints into the recess of the back profile and into the side profiles until they reach the stop

	  Back profile to cut to length, 90° mitre cut end, see pages 25, 27, 29

2. Hold the joints in position and screw to fix

BACK PROFILEJOINT JOINT

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

BACK CORNER

10



5

6

4

3

5

6

Assembly instructions

S
ID

E
 P

R
O

FI
LE

3. Insert the back corners onto the back profile until they reach the stop

4. Screw to fix the corners onto the joints

BACK PROFILE

BACK PROFILE

S
ID

E
 P

R
O

FI
LE

JOINT

BACK CORNER BACK CORNER

5. Insert the side profiles into the corners

6. Screw to fix the corners onto the joints

11



5A

6A

6A

BACK PROFILE 

Excessories - modular drawer - 4-SIDED - Assembly instructions

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

FRONT CORNER

JOINT

ADDITIONAL SCREW TO FIX THE BACK PROFILE WITH SIDE H 128

5A. Insert the side profiles into the corners

6A. Screw both the screws to fix the corners onto the joints and to fasten the profile

12



1

3

4

5

2

45° 45°

1

3

4

5

2

45° 45°

Assembly instructions

FRONT PROFILE

FRONT PROFILE

FRONT PROFILE

1. Insert the joints into the recess of the front profile until they reach the stop

	  Front profile to cut to length, 45° mitre cut end, see pages 25, 27, 29.

2. Hold the joints in position and screw to fix

3. Insert the front corners onto the front profile until they reach the stop

4. Insert the fixing screws into the front corners onto the front profile

5. Screw to fix the corners

FRONT CORNER FRONT CORNER

JOINT JOINT

13



6

7

8

Excessories - modular drawer - 4-SIDED - Assembly instructions 

FRONT PROFILE

FRONT PROFILE

6. Insert the assembled front profile into the recess of the side profiles until it reaches the stop

7. Fix the assembled front profile onto the side profiles

8. Screw to fix the profiles

BACK PROFILE

S
ID

E
 P

R
O

FI
LE

S
ID

E
 P

R
O

FI
LE

14



4

2

2

3

1

1

4

2

2

3

1

1

4

2

2

3

1

1

4

2

2

3

1

1

4

2

2

3

1

1

4

2

2

3

1

1

Assembly instructions 

MOUNTING THE DRAWER ONTO THE RUNNERS

REMOVAL OF THE DRAWER

1. Place the drawer on the runners and close it

2. The flexibility of the fixing system enables the clips to engage

3. Engage the locking pin to prevent the overturning of the drawer

4. Locate the rear hooks

1. Open the drawer 2. Press down the lever indicated here below and pull out the drawer

15



Excessories - modular drawer - Adjustments 

Depth adjustment +2 -2 mm

Rotate the wheel towards the front of the drawer to move the drawer forward.
Rotate the wheel towards the back of the drawer to move the drawer backward. 
This operation is tool free.

16



Adjustments 

Height adjustment +5 mm 

Rotate the lever towards the frontal of the drawer for the height adjustment.
This operation is tool free.

17



L

10 40

41
52

MIN.7552

12.5

P
LF = LV

 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

MIN.7552

12.5

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

88

12

95

19

L

10 40

41
52

MIN.7552

12.5

P
LF = LV

 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

MIN.7552

12.5

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

88

12

95

19

 10  10

 10  10

 32 12.5

 12.5

 24

 32

 12.5

 12.5

 32

 24

 X  X  X

 32

 12.5

 12.5

 24

 32

 32

 12.5

ø 5
x1

0

 12.5

 24

 32

 32

 X  X  X

 LF

 LF

 10
 14

 10
 14

 10
 14

 32

 12.5
 10  10

 12.5

 24

 25

 12.5

 12.5

 24
 25

 X  X

 LF

 X

ø 5
x1

0

ø 5
x1

0

L

10 40

41
52

MIN.7552

12.5

P
LF = LV

 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

MIN.7552

12.5

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

88

12

95

19

L

10 40

41
52

MIN.7552

12.5

P
LF = LV

 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

MIN.7552

12.5

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

88

12

95

19

Excessories - modular drawer - 3-SIDED H 52 - wooden frontal

LV = cabinet width

INTERNAL DIMENSIONS

* internal dimensions from the corners

FRONTAL DRILLING

3 pairs of holes up to L = 600 mm
4 pairs of holes from L = 601 mm to L = 1500 mm

18



1

1

4

7

8

910

10

9

9

9

7

6

6

3

3 3

3

5

5

2

2

1

1

LV - 1
15

LV - 1
15

 

Runner 
length  

(LN) mm

Drawer 
width  

(L) mm

Frontal 
width 

(LF) mm

Internal
width  

(L1) mm

Drawer depth 
(P) mm 

+ wooden frontal 
12 mm

Drawer depth 
(P) mm 

+ wooden frontal 
19 mm

Internal 
depth 

(P1) mm

400

LV - 15 LV - 6 L - 80

440 447 386

450 490 497 436

470 510 517 456

COMPONENTS
1. Joints for back profile
2. Back corners
3. Screws TPS DELTA PT 4x23 mm
4. Back profile
5. Side profiles

Kit for the frontal fixing
(to be ordered separately)
6. Euroscrews TPSV 6.3x14 mm
7. Fixing caps
8. Aluminium profile
9. Connecting elements for 
the frontal
10. Screws TPS M 4x12 mm

 

19



4129

12

7.5 7.5

L = LV - 15

LV

40

10

19

9

78
67

40

78

88

11.5

MIN. 100

12

P

L

LF = LV
 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

78

95

11.5

MIN. 100

19

10

12,5

24

32

12,5 32

10

14

LF

12,5

24

32

10

12,5

5x10

X X X

3 coppie di fori fino a L=600mm
4 coppie di fori da L=601mm a L=1500mm

4129

12

7.5 7.5

L = LV - 15

LV

40

10

19

9

78
67

40

78

88

11.5

MIN. 100

12

P

L

LF = LV
 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

78

95

11.5

MIN. 100

19

10

12,5

24

32

12,5 32

10

14

LF

12,5

24

32

10

12,5

5x10

X X X

3 coppie di fori fino a L=600mm
4 coppie di fori da L=601mm a L=1500mm

 10  10

 10  10

 32 12.5

 12.5

 24

 32

 12.5

 12.5

 32

 24

 X  X  X

 32

 12.5

 12.5

 24

 32

 32

 12.5

ø 5
x1

0

 12.5

 24

 32

 32

 X  X  X

 LF

 LF

 10
 14

 10
 14

 10
 14

 32

 12.5
 10  10

 12.5

 24

 25

 12.5

 12.5

 24
 25

 X  X

 LF

 X

ø 5
x1

0

ø 5
x1

0

4129

12

7.5 7.5

L = LV - 15

LV

40

10

19

9

78
67

40

78

88

11.5

MIN. 100

12

P

L

LF = LV
 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

78

95

11.5

MIN. 100

19

10

12,5

24

32

12,5 32

10

14

LF

12,5

24

32

10

12,5

5x10

X X X

3 coppie di fori fino a L=600mm
4 coppie di fori da L=601mm a L=1500mm

4129

12

7.5 7.5

L = LV - 15

LV

40

10

19

9

78
67

40

78

88

11.5

MIN. 100

12

P

L

LF = LV
 - 6 L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

78

95

11.5

MIN. 100

19

10

12,5

24

32

12,5 32

10

14

LF

12,5

24

32

10

12,5

5x10

X X X

3 coppie di fori fino a L=600mm
4 coppie di fori da L=601mm a L=1500mm

Excessories - modular drawer - 3-SIDED H 78 - wooden frontal

3 pairs of holes up to L = 600 mm
4 pairs of holes from L = 601 mm to L = 1500 mm

FRONTAL DRILLING

LV = cabinet width

* internal dimensions from the corners

INTERNAL DIMENSIONS

20



1

1

4

7

8

910

10

9

9

9

7

6

6

3

3 3

3

5

5

2

2

1

1

LV - 1
15

LV - 1
15

 

COMPONENTS
1. Joints for back profile

2. Back corners

3. Screws TPS DELTA PT 4x23 mm

4. Back profile

5. Side profiles

Kit for the frontal fixing
(to be ordered separately)
6. Euroscrews TPSV 6.3x14 mm

7. Fixing caps

8. Aluminium profile

9. Connecting elements for 

the frontal

10. Screws TPS M 4x12 mm

Runner 
length  

(LN) mm

Drawer 
width 

(L) mm

Frontal 
width 

(LF) mm

Internal 
width  

(L1) mm

Drawer depth 
(P) mm 

+ wooden frontal
12 mm

Drawer depth 
(P) mm 

+ wooden frontal
19 mm

Internal
depth

(P1) mm

400

LV - 15 LV - 6 L - 80

440 447 386

450 490 497 436

470 510 517 456

 

21



7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

11,5

MIN.150128

LF = LV
 - 6

P

L

L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

11,5

128 MIN.150

88

12

95

19

4129

12

7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

11,5

MIN.150128

LF = LV
 - 6

P

L

L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

11,5

128 MIN.150

88

12

95

19

4129

12

 10  10

 10  10

 32 12.5

 12.5

 24

 32

 12.5

 12.5

 32

 24

 X  X  X

 32

 12.5

 12.5

 24

 32

 32

 12.5

ø 5
x1

0

 12.5

 24

 32

 32

 X  X  X

 LF

 LF

 10
 14

 10
 14

 10
 14

 32

 12.5
 10  10

 12.5

 24

 25

 12.5

 12.5

 24
 25

 X  X

 LF

 X

ø 5
x1

0

ø 5
x1

0

7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

11,5

MIN.150128

LF = LV
 - 6

P

L

L1 = L - 80

P1 = P - 54*

* misura da angolari

MISURE INTERNE

11,5

128 MIN.150

88

12

95

19

4129

12

Excessories - modular drawer - 3-SIDED H 128 - wooden frontal

3 pairs of holes up to L = 600 mm
4 pairs of holes from L = 601 mm to L = 1500 mm

FRONTAL DRILLING

LV = cabinet width

INTERNAL DIMENSIONS

* internal dimensions from the corners

22



1

1

4

7

8

9
10

10

9

9

9

7

6

6

3

3

3A

3A

3

3

5

5

2

2

1

1

LV - 1
15

LV - 1
15

 

Runner 
length 

(LN) mm

Drawer 
width  

(L) mm

Frontal 
width 

(LF) mm

Internal 
width  

(L1) mm

Drawer depth 
(P) mm 

+ wooden frontal
12 mm

Drawer depth 
(P) mm 

+ wooden frontal
19 mm

Internal 
depth 

(P1) mm

400

LV - 15 LV - 6 L - 80

440 447 386

450 490 497 436

470 510 517 456

COMPONENTS
1. Joints for back profile

2. Back corners

3. Screws TPS DELTA PT 4x23 mm

3A. Screws TPS 3.5x13 mm Black

4. Back profile

5. Side profiles

Kit for the frontal fixing
(to be ordered separately)
6. Euroscrews TPSV 6.3x14 mm

7. Fixing caps

8. Aluminium profile

9. Connecting elements for the frontal

10. Screws TPS M 4x12 mm

 

23



52

L

P

L1 = L - 84*

P1 = P - 84*

* misura da angolari

MISURE INTERNE

88

10 40

41
52

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

52

L

P

L1 = L - 84*

P1 = P - 84*

* misura da angolari

MISURE INTERNE

88

10 40

41
52

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

52

L

P

L1 = L - 84*

P1 = P - 84*

* misura da angolari

MISURE INTERNE

88

10 40

41
52

L = LV - 15

7.5 7.5

14

LV

4129

12

19

9

Excessories - modular drawer - 4-SIDED H 52 

INTERNAL DIMENSIONS

* internal dimensions from the corners

LV = cabinet width

24



LV - 1
15

LV - 2
9.5

1

1

4

3

3
3

3

3

3 3

3

5

5

6

7

8

7

6

2

2

1

1

 

Runner 
length  

(LN) mm

Drawer 
width  

(L) mm

Internal 
width  

(L1) mm

Drawer 
depth  

(P) mm

Internal 
depth  

(P1) mm

400

LV - 15 L - 84

440 356

450 490 406

470 510 426

COMPONENTS
1. Joints for back profile

2. Back corners

3. Screws TPS DELTA PT 4x23 mm

4. Back profile

5. Side profiles

6. Joints for front profile

7. Front corners

8. Front profile

25



78

P

L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

10

19

9

78
67

40

4129

12

7.5 7.5

L = LV - 15

LV

40

88

78

P

L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

10

19

9

78
67

40

4129

12

7.5 7.5

L = LV - 15

LV

40

88

78

P

L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

10

19

9

78
67

40

4129

12

7.5 7.5

L = LV - 15

LV

40

88

Excessories - modular drawer - 4-sided drawer H 78 

LV = cabinet width

INTERNAL DIMENSIONS

* internal dimensions from the corners

26



 

1

1

4

3

3 3

3

3

3 3

3

5

5

6

7

8

7

6

2

2

1

1

LV - 1
15

LV - 2
9.5

Runner 
length  

(LN) mm

Drawer 
width  

(L) mm

Internal 
width  

(L1) mm

Drawer 
depth  

(P) mm

Internal 
depth  

(P1) mm

400

LV - 15 L - 84

440 356

450 490 406

470 510 426

COMPONENTS
1. Joints for back profile

2. Back corners

3. Screws TPS DELTA PT 4x23 mm

4. Back profile

5. Side profiles

6. Joints for front profile

7. Front corners

8. Front profile

27



L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

88

128

7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

4129

12

P

L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

88

128

7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

4129

12

P

L

P1 = P - 84*

L1 = L - 84*

* misura da angolari

MISURE INTERNE

88

128

7.5 7.5

LV

90

L = LV - 15

10

19

9

40

128
117

4129

12

P

Excessories - modular drawer - 4-SIDED H 128 

LV = cabinet width

INTERNAL DIMENSIONS

* internal dimensions from the corners

28



 

1

1

4

3

3

3 3

3

3

3A

33

3A

5

5

6

7

8

7

6

2

2

1

1

LV - 1
15

LV - 2
9.5

Runner 
length  

(LN) mm

Drawer 
width  

(L) mm

Internal 
width  

(L1) mm

Drawer 
depth  

(P) mm

Internal 
depth  

(P1) mm

400

LV - 15 L - 84

440 356

450 490 406

470 510 426

COMPONENTS
1. Joints for back profile
2. Back corners
3. Screws TPS DELTA PT 4x23 mm
3A. Screws TPS 3.5x13 mm Black
4. Back profile
5. Side profiles
6. Joints for front profile
7. Front corners

8. Front profile

29



Notes

30



Notes

31



We reserve the right to change technical specifications.

Digital contents

Ed
. 

0
1

 - 
1
0
/2

0
2
3

DEUTSCHE SALICE GMBH 
RUDOLF DIESEL STR. 10 
74382 NECKARWESTHEIM 
TEL. 07133 9807-0 
FAX. 07133 9807-16 
info.salice@deutschesalice.de 
www.salice.com 
 

DEUTSCHE SALICE GMBH 
VERKAUFSBÜRO NORD 
RINGSTRASSE 36/A30 CENTER 
32584 LÖHNE 
TEL. 05731 15608-0 
FAX. 05731 15608-10 
vknord@deutschesalice.de 
www.salice.com 
 

SALICE UK LTD. 
KINGFISHER WAY 
HINCHINGBROOKE BUSINESS PARK 
HUNTINGDON CAMBS PE 29 6FN 
TEL. 01480 413831 
FAX. 01480 451489 
info.salice@saliceuk.co.uk 
www.salice.com

SALICE FRANCE S.A.R.L. 
285 RUE DE GOA ZAC LES 3 MOULINS 
06600 ANTIBES 
TEL. 0493 330069 
FAX. 0493 330141 
info.salice@salicefrance.com 
www.salice.com 
 

SALICE ESPAÑA, S.L.U. 
C/ AIGUAFREDA 4, P.I. AMETLLA PARK 
08480 L’AMETLLA DEL VALLÈS (BARCELONA) 
TEL. 0034 938 46 88 61 
info.salice@saliceespana.es 
www.salice.com 
 

SALICE PORTUGAL UNIP. LDA 
SHOWROOM: 
TV SÁ E MELO 161 FA 
4470-116 MAIA – PORTO 
TEL: 00351 224 154 221 
Info@saliceportugal.pt 
www.salice.com 
ARMAZÉM: 
VIA ROTA DOS MÓVEIS I 399 
4585-325 GANDRA

SALICE CHINA 
(SHANGHAI) CO. LTD. 
1st FLOOR, B1 BLDG 928 MINGZHU ROAD 
XUJING, QINGPU DISTRICT 
SHANGHAI 201702 - CHINA 
TEL. 021 3988 9880 
FAX. 021 3988 9882 
info.salice@salicechina.com 
www.salicechina.com 
 

SALICE INDIA PVT. LTD. 
1001 & 1002, 10TH FLOOR, 
CENTRUM, PLOT NO. C-3, 
OPP. WAGLE PRABHAG SAMITI OFFICE, 
MIDC AREA, WAGLE INDUSTRIAL ESTATE, 
THANE - 400604, MAHARASHTRA 
TEL. 022 20812050 
info@saliceindia.com 
www.salice.com 
 

SALICE CANADA INC. 
3500 RIDGEWAY DRIVE, 
UNIT#1 
MISSISSAUGA, ONTARIO, L5L 0B4 
TEL. 905 820 8787 
FAX. 905 820 7226 
info.salice@salicecanada.com 
www.salicecanada.com 
 

SALICE AMERICA INC. 
2123 CROWN CENTRE DRIVE 
CHARLOTTE NC. 28227 
TEL. 704 841 7810 
FAX. 704 841 7808 
info.salice@saliceamerica.com 
www.saliceamerica.com

ARTURO SALICE S.p.A. 
 
VIA PROVINCIALE NOVEDRATESE, 10 
22060 NOVEDRATE (COMO) ITALIA 
TEL. 031 790424 - FAX 031 791508 
info.salice@salice.com - www.salice.com

BORTOLUZZI SISTEMI S.p.A. 
 
VIA CADUTI 14 SETTEMBRE 1944, 45 
32100 BELLUNO ITALIA 
TEL. 0437 930866 - FAX 0437 931442 
info@bortoluzzi.com - www.bortoluzzi.com


